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QUESTION 1

Erasure code redundancy technology used in Huawei OceanStor 9000 supports higher reliability and more
flexible redundancy than traditional RAID algorithms.

Which of the following statements regarding the principle of Erasure code N + M is wong?

A. Data is written into N data blocks of the same size

B. Yu calculate M check blocks (N=+M) by Erasure code algorithm for every N consecutive data blocks

C. The system stores N + M data blocks in parallel on different hard disks

D. In re-Erasure Code storage mode, the system supports up to N hard disk failure

Correct Answer: D

QUESTION 2

In Simpana software, incremental backup means:

A. The data that has changed since the last backup.

B. The data that has been changed since the last full backup.
C. The completion of all data backup.

D. After the initial backup, all data has back up.

Correct Answer: B

QUESTION 3

Disaster recovery project information research mainly includes information about who, what, and why. What is the
following information background? (multiple choice)

A. A bank has more than XX customers and XX corporate customers.
B. Data loss will be huge and business disruption may result in significant financial loss.
C. Business interruption has a huge impact, and the interruption time in business deployment is less than 2 hours.

D. Clients want to build two live-action data centers in the same city to realize the key business activities such as RTO
2.

Correct Answer: CD

QUESTION 4
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In the N8500 (V200R001) system, when you run the gabconfig -a command on a cluster node, the system displays the
following figure.

N8000V2R1-01-01 # gabconfig -a Port b gen bab409 membership 0123 Port f gen bab412 membership 0123 Port h gen
bab40d membership 0123 Port v gen bab40d membership 0123 Port w gen bab40f membership 0123

You determine that the heartbeat members of the node is not started, you can use /etc/init.d/llt start to try to start it.
A. True
B. False

Correct Answer: A

QUESTION 5

Using Simpana to backup five 10g data files where the sub-client sets the backup stream to 8, the administrator can
increase the backup stream to improve backup performance.

A. True
B. False

Correct Answer: B
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